





## A new generalization of Young type inequality and applications

Mohammad H.M. Rashid , Najwa Snaid\* 

*Department of Mathematics and Statistics, Mu'tah University , Karak, Jordan*

### Abstract

In this paper, we give refinements of the classical Young inequality for scalars and we use these refinements to establish refined some Young type inequalities for the trace, determinants, and norms of positive definite matrices.

**Mathematics Subject Classification (2020).** 15A30, 26D07

**Keywords.** Young inequality, positive semidefinite matrix, trace inequalities

### 1. Introduction

Let  $M_n(\mathbb{C})$  be the space of  $n \times n$  complex matrices and let  $\|\cdot\|$  denote any unitarily invariant (or symmetric) norm on  $M_n(\mathbb{C})$  and the Hilbert–Schmidt norm  $\|A\|_2 = \left(\sum_{j=1}^n s_j^2\right)^{\frac{1}{2}}$ , where  $s_1(A) \geq \dots \geq s_n(A)$  are the singular values of  $A$ , that is, the eigenvalues of the positive semidefinite matrix  $|A| = (A^*A)^{1/2}$ .

Through out the paper of  $A$  is an  $n \times n$  matrix, we write  $trA$  to denote the trace of  $A$  and  $detA$  for the determinate of  $A$ .

The classical Young inequality for two scalars is the  $\alpha$ -weighted arithmetic–geometric mean inequality, which is a fundamental relation between two nonnegative real numbers. This inequality says that if  $a, b \geq 0$  and  $0 \leq \alpha \leq 1$ , then

$$a^\alpha b^{1-\alpha} \leq \alpha a + (1 - \alpha) b \quad (1.1)$$

with equality if and only if  $a = b$ . If  $\alpha = \frac{1}{2}$ , we obtain the arithmetic–geometric mean inequality.

$$\sqrt{ab} \leq \frac{a+b}{2} \quad (1.2)$$

The first refinements of Young inequality is the squared version, proved in [4] as follow:

$$\left(a^\alpha b^{1-\alpha}\right)^2 + \min\{\alpha, 1 - \alpha\}^2(a - b)^2 \leq (\alpha a + (1 - \alpha) b)^2. \quad (1.3)$$

Later, Kittaneh and Manasrah in [2], obtained another interesting refinement of Young inequality as follow:

$$a^\alpha b^{1-\alpha} + \min\{\alpha, 1 - \alpha\} \left(\sqrt{a} - \sqrt{b}\right)^2 \leq \alpha a + (1 - \alpha) b \quad (1.4)$$

\*Corresponding Author.

Email addresses: mrash@mutah.edu.jo (M.H.M. Rashid), najwaawad1992@gmail.com (N. Snaid)

Received: 30.07.2021; Accepted: 17.04.2022

Recently, Al-Manasrah and Kittaneh in [3] gave a generalization of two refined Young inequalities (1.3) and (1.4) as follow: For  $m = 1, 2, 3, \dots$

$$\left(a^\alpha b^{1-\alpha}\right)^m + r_0^m \left(a^{\frac{m}{2}} - b^{\frac{m}{2}}\right)^2 \leq (\alpha a^r + (1-\alpha)b^r)^{\frac{m}{r}}, \quad r \geq 1 \quad (1.5)$$

where  $r_0 = \min\{\alpha, 1-\alpha\}$ .

These inequalities are generalized to the space of operators on finite dimensional Hilbert spaces. In the setting of matrices, the above refinement is read as follow [3]

$$\|A^\alpha X B^{1-\alpha}\|^m + r_0^m \left(\|AX\|^{\frac{m}{2}} - \|BX\|^{\frac{m}{2}}\right)^2 \leq (\alpha\|AX\| + (1-\alpha)\|XB\|)^m \quad (1.6)$$

where  $r_0 = \min\{\alpha, 1-\alpha\}$ .

Very recently, Ighachane and Akkouchi in [1] gave a new generalization of the refined Young inequalities (1.3) and (1.4) as follow: For  $m = 1, 2, 3, \dots$ ,

$$\left(a^\alpha b^{1-\alpha}\right)^m + r_0^m \left(\frac{b^{m+1} - a^{m+1}}{b-a} - (m+1)(ab)^{\frac{m}{2}}\right) \leq (\alpha a + (1-\alpha)b)^m \quad (1.7)$$

where  $r_0 = \min\{\alpha, 1-\alpha\}$ .

The authors in [1] gave the reverse of scalar Young type inequality (1.6) as follows

$$r_0^m \left(a^{\frac{m}{2}} - b^{\frac{m}{2}}\right)^2 \leq r_0^m \left(\frac{b^{m+1} - a^{m+1}}{b-a} - (m+1)(ab)^{\frac{m}{2}}\right) \leq (\alpha a + (1-\alpha)b)^m - \left(a^\alpha b^{1-\alpha}\right)^m \quad (1.8)$$

where  $r_0 = \min\{\alpha, 1-\alpha\}$ .

Motivated by the refinements of the well-known Young inequality, in this paper, we apply this inequality to obtain considerable generalizations and refinements of the Young inequality for positive scalars. Applications to unitarily invariant norm inequalities involving positive semidefinite matrices are also given.

## 2. Refinements of the scalar Young's inequality

We begin this section with the following refinements of the scalar Young's inequality (1.3).

**Theorem 2.1.** *If  $a, b \geq 0$ ,  $0 \leq \alpha \leq 1$  and  $r > 0$ , then*

$$a^{2r\alpha} b^{2r(1-\alpha)} + r_0 (a^r - b^r)^2 \leq \alpha a^{2r} + (1-\alpha)b^{2r} \quad (2.1)$$

where  $r_0 = \min\{\alpha, 1-\alpha\}$ .

**Proof.** If  $\alpha = \frac{1}{2}$ , the inequality (2.1) becomes an equality.

Assume that  $\alpha < \frac{1}{2}$ . Then, by the inequality (1.1) we have

$$\begin{aligned} & \alpha a^{2r} + (1-\alpha)b^{2r} - \alpha (a^r - b^r)^2 \\ &= 2\alpha a^r b^r + (1-2\alpha)b^{2r} \\ &\geq (ab)^{2r\alpha} b^{2r(1-2\alpha)} \\ &= a^{2r\alpha} b^{2r(1-\alpha)} \end{aligned}$$

and so

$$\alpha a^{2r} + (1-\alpha)b^{2r} \geq \alpha (a^r - b^r)^2 + a^{2r\alpha} b^{2r(1-\alpha)}$$

If  $\alpha > \frac{1}{2}$ , then

$$\begin{aligned} & \alpha a^{2r} + (1 - \alpha) b^{2r} - (1 - \alpha) (a^r - b^r)^2 \\ &= (2\alpha - 1) a^{2r} + 2(1 - \alpha) a^r b^r \\ &\geq a^{2r(2\alpha-1)} (ab)^{2r(1-\alpha)} \\ &= a^{2r\alpha} b^{2r(1-\alpha)} \end{aligned}$$

and so,

$$\alpha a^{2r} + (1 - \alpha) b^{2r} \geq (1 - \alpha) (a^r - b^r)^2 + a^{2r\alpha} b^{2r(1-\alpha)}$$

Hence,

$$a^{2r\alpha} b^{2r(1-\alpha)} + r_0 (a^r - b^r)^2 \leq \alpha a^{2r} + (1 - \alpha) b^{2r}$$

This completes the proof. □

**Theorem 2.2.** If  $a, b \geq 0$  and  $-1 \leq \alpha \leq 1$  then,

$$a^{\frac{1-\alpha}{2}} b^{\frac{1+\alpha}{2}} + r_0 (\sqrt{a} - \sqrt{b})^2 \leq \frac{1-\alpha}{2} a + \frac{1+\alpha}{2} b \tag{2.2}$$

where  $r_0 = \min \left\{ \frac{1-\alpha}{2}, \frac{1+\alpha}{2} \right\}$ .

**Proof.** If  $a = b$ , then the inequality (2.2) becomes an equality.

Assume that  $\alpha < 0$ . Then, by the inequality (1.1) we have

$$\begin{aligned} \frac{1-\alpha}{2} a + \frac{1+\alpha}{2} b - \frac{1+\alpha}{2} (\sqrt{a} - \sqrt{b})^2 &= -\alpha a + (1 + \alpha) \sqrt{ab} \\ &\geq a^{-\alpha} (ab)^{\frac{1+\alpha}{2}} = a^{\frac{1-\alpha}{2}} b^{\frac{1+\alpha}{2}} \end{aligned}$$

and so,

$$\frac{1-\alpha}{2} a + \frac{1+\alpha}{2} b \geq \frac{1+\alpha}{2} (\sqrt{a} - \sqrt{b})^2 + a^{\frac{1-\alpha}{2}} b^{\frac{1+\alpha}{2}}$$

If  $\alpha > 0$  then,

$$\begin{aligned} & \frac{1-\alpha}{2} a + \frac{1+\alpha}{2} b - \frac{1-\alpha}{2} (\sqrt{a} - \sqrt{b})^2 \\ &= \alpha b + (1 - \alpha) \sqrt{ab} \\ &\geq b^\alpha (ab)^{\frac{1-\alpha}{2}} \\ &= a^{\frac{1-\alpha}{2}} b^{\frac{1+\alpha}{2}} \end{aligned}$$

and so,

$$\frac{1-\alpha}{2} a + \frac{1+\alpha}{2} b \geq \frac{1-\alpha}{2} (\sqrt{a} - \sqrt{b})^2 + a^{\frac{1-\alpha}{2}} b^{\frac{1+\alpha}{2}}$$

Hence,

$$a^{\frac{1-\alpha}{2}} b^{\frac{1+\alpha}{2}} + r_0 (\sqrt{a} - \sqrt{b})^2 \leq \frac{1-\alpha}{2} a + \frac{1+\alpha}{2} b$$

This completes the proof. □

### 3. Improving Young inequality for matrices

In this section we give some refined Young type inequalities for traces, determinants, and norms of positive definite matrices based on the refined Young Inequalities (2.1) and (2.2). Now we give a refinement of both the trace and the determinant versions of Young's Inequality. To do this, we need the following Lemma ([2]).

**Lemma 3.1.** *Let  $A, B \in M_n(\mathbb{C})$ . Then*

$$\sum_{j=1}^n s_j(AB) \leq \sum_{j=1}^n s_j(A)s_j(B)$$

**Theorem 3.2.** *Let  $A, B \in M_n(\mathbb{C})$  be positive semidefinite, if  $0 \leq \alpha \leq 1$  and  $r > 0$ , then*

$$tr \left| A^{2r\alpha} B^{2r(1-\alpha)} \right| + r_0(trA^r - trB^r)^2 \leq tr(\alpha A^{2r} + (1 - \alpha) B^{2r}) \tag{3.1}$$

where  $r_0 = \min \{ \alpha, 1 - \alpha \}$

**Proof.** By the inequality (2.1) we have

$$\alpha s_j^{2r}(A) + (1 - \alpha) s_j^{2r}(B) \geq s_j^{2r\alpha}(A) s_j^{2r(1-\alpha)}(B) + r_0(s_j^r(A) - s_j^r(B))^2$$

for  $j = 1, \dots, n$

Thus, by Lemma 3.1 and the Cauchy-Schwarz inequality, we have

$$\begin{aligned} tr \left( \alpha A^{2r} + (1 - \alpha) B^{2r} \right) &= \alpha tr \left( A^{2r} \right) + (1 - \alpha) tr \left( B^{2r} \right) = \sum_{j=1}^n \left( \alpha s_j^{2r}(A) + (1 - \alpha) s_j^{2r}(B) \right) \\ &\geq \sum_{j=1}^n s_j \left( A^{2r\alpha} \right) s_j \left( B^{2r(1-\alpha)} \right) + r_0 \left( \sum_{j=1}^n s_j^{2r}(A) + \sum_{j=1}^n s_j^{2r}(B) - 2 \sum_{j=1}^n s_j^r(A) s_j^r(B) \right) \\ &\geq \sum_{j=1}^n s_j \left( A^{2r\alpha} B^{2r(1-\alpha)} \right) + r_0 \left( tr \left( A^{2r} \right) + tr \left( B^{2r} \right) - 2 \left( \sum_{j=1}^n s_j \left( A^{2r} \right) \right)^{\frac{1}{2}} \left( \sum_{j=1}^n s_j \left( B^{2r} \right) \right)^{\frac{1}{2}} \right) \\ &= \sum_{j=1}^n s_j \left( A^{2r\alpha} B^{2r(1-\alpha)} \right) + r_0 \left( tr A^{2r} + tr B^{2r} - 2 \left( tr A^{2r} \right)^{\frac{1}{2}} \left( tr B^{2r} \right)^{\frac{1}{2}} \right) \\ &= tr \left| A^{2r\alpha} B^{2r(1-\alpha)} \right| + r_0(trA^r - trB^r)^2 \end{aligned}$$

This completes the proof of the trace inequality. □

**Theorem 3.3.** *Let  $A, B \in M_n(\mathbb{C})$  be positive semidefinite and if  $-1 \leq \alpha \leq 1$ , then*

$$tr \left| A^{\frac{1-\alpha}{2}} B^{\frac{1+\alpha}{2}} \right| + r_0(\sqrt{trA} - \sqrt{trB})^2 \leq tr \left( \frac{1-\alpha}{2} A + \frac{1+\alpha}{2} B \right) \tag{3.2}$$

where  $r_0 = \min \left\{ \frac{1-\alpha}{2}, \frac{1+\alpha}{2} \right\}$ .

**Proof.** By the inequality (2.2) we have

$$\frac{1-\alpha}{2} s_j(A) + \frac{1+\alpha}{2} s_j(B) \geq s_j \left( A^{\frac{1-\alpha}{2}} \right) s_j \left( B^{\frac{1+\alpha}{2}} \right) + r_0(s_j^{\frac{1}{2}}(A) - s_j^{\frac{1}{2}}(B))^2$$

for  $j = 1, \dots, n$ .

Thus, by Lemma 3.1 and the Cauchy-Schwarz inequality, we have

$$\begin{aligned} tr \left( \frac{1-\alpha}{2} A + \frac{1+\alpha}{2} B \right) &= \frac{1-\alpha}{2} tr(A) + \frac{1+\alpha}{2} tr(B) = \sum_{j=1}^n \left( \frac{1-\alpha}{2} s_j(A) + \frac{1+\alpha}{2} s_j(B) \right) \\ &\geq \sum_{j=1}^n s_j \left( A^{\frac{1-\alpha}{2}} \right) s_j \left( B^{\frac{1+\alpha}{2}} \right) + r_0 \left( \sum_{j=1}^n s_j(A) + \sum_{j=1}^n s_j(B) - 2 \sum_{j=1}^n s_j^{\frac{1}{2}}(A) s_j^{\frac{1}{2}}(B) \right) \\ &\geq \sum_{j=1}^n s_j \left( A^{\frac{1-\alpha}{2}} B^{\frac{1+\alpha}{2}} \right) + r_0 \left( tr(A) + tr(B) - 2 \left( \sum_{j=1}^n s_j(A) \right)^{\frac{1}{2}} \left( \sum_{j=1}^n s_j(B) \right)^{\frac{1}{2}} \right) \\ &= \sum_{j=1}^n s_j \left( A^{\frac{1-\alpha}{2}} B^{\frac{1+\alpha}{2}} \right) + r_0 \left( trA + trB - 2(trA)^{\frac{1}{2}}(trB)^{\frac{1}{2}} \right) \end{aligned}$$

$$= \operatorname{tr} \left| A^{\frac{1-\alpha}{2}} B^{\frac{1+\alpha}{2}} \right| + r_0 \left( \sqrt{\operatorname{tr} A} - \sqrt{\operatorname{tr} B} \right)^2$$

This completes the proof of the trace inequality. □

**Theorem 3.4.** Let  $A, B \in M_n(\mathbb{C})$  be positive definite, if  $0 \leq \alpha \leq 1$  and  $r > 0$ , then

$$\begin{aligned} & \det \left( A^{2r\alpha} B^{2r(1-\alpha)} \right) + r_0^n \det \left( A^{2r} + B^{2r} - 2 \left( B^r \left( B^{-r} A^{2r} B^{-r} \right)^{1/2} B^r \right) \right) \\ & \leq \det \left( \alpha A^{2r} + (1 - \alpha) B^{2r} \right) \end{aligned} \tag{3.3}$$

where  $r_0 = \min \{ \alpha, 1 - \alpha \}$

**Proof.** By the inequality (2.1) we have

$$\alpha s_j \left( B^{-r} A^{2r} B^{-r} \right) + (1 - \alpha) \geq s_j^\alpha \left( B^{-r} A^{2r} B^{-r} \right) + r_0 \left( s_j^{1/2} \left( B^{-r} A^{2r} B^{-r} \right) - 1 \right)^2$$

for  $j = 1, \dots, n$ . Thus

$$\begin{aligned} \det \left( \alpha B^{-r} A^{2r} B^{-r} + (1 - \alpha) I \right) &= \prod_{j=1}^n \left( \alpha s_j \left( B^{-r} A^{2r} B^{-r} \right) + 1 - \alpha \right) \\ &\geq \prod_{j=1}^n \left[ s_j^\alpha \left( B^{-r} A^{2r} B^{-r} \right) + r_0 \left( s_j^{1/2} \left( B^{-r} A^{2r} B^{-r} \right) - 1 \right)^2 \right] \\ &\geq \prod_{j=1}^n s_j^\alpha \left( B^{-r} A^{2r} B^{-r} \right) + r_0^n \prod_{j=1}^n \left( s_j^{1/2} \left( B^{-r} A^{2r} B^{-r} \right) - 1 \right)^2 \\ &= \det \left( B^{-r} A^{2r} B^{-r} \right)^\alpha + r_0^n \det \left( \left( B^{-r} A^{2r} B^{-r} \right)^{1/2} - I \right)^2 \end{aligned}$$

Consequently,

$$\begin{aligned} & \det \left( A^{2r\alpha} B^{2r(1-\alpha)} \right) + r_0^n \det \left( A^{2r} + B^{2r} - 2 \left( B^r \left( B^{-r} A^{2r} B^{-r} \right)^{1/2} B^r \right) \right) \\ & \leq \det \left( \alpha A^{2r} + (1 - \alpha) B^{2r} \right) \end{aligned}$$

This complete the proof of the determinant inequality. □

**Theorem 3.5.** Let  $A, B \in M_n(\mathbb{C})$  be positive definite and if  $-1 \leq \alpha \leq 1$ , then

$$\begin{aligned} & \det \left( A^{\frac{1-\alpha}{2}} B^{\frac{1+\alpha}{2}} \right) + r_0^n \det \left( A + B - 2 \left( B^{\frac{1}{2}} \left( B^{-\frac{1}{2}} A B^{-\frac{1}{2}} \right)^{\frac{1}{2}} B^{\frac{1}{2}} \right) \right) \\ & \leq \det \left( \frac{1 - \alpha}{2} A + \frac{1 + \alpha}{2} B \right) \end{aligned} \tag{3.4}$$

where  $r_0 = \min \left\{ \frac{1-\alpha}{2}, \frac{1+\alpha}{2} \right\}$

**Proof.** By the inequality (2.2) we have

$$\frac{1 - \alpha}{2} s_j \left( B^{-\frac{1}{2}} A B^{-\frac{1}{2}} \right) + \frac{1 + \alpha}{2} \geq s_j^{\frac{1-\alpha}{2}} \left( B^{-\frac{1}{2}} A B^{-\frac{1}{2}} \right) + r_0 \left( s_j^{\frac{1}{2}} \left( B^{-\frac{1}{2}} A B^{-\frac{1}{2}} \right) - 1 \right)^2$$

for  $j = 1, \dots, n$ . Thus

$$\begin{aligned} \det \left( \frac{1-\alpha}{2} B^{-\frac{1}{2}} A B^{-\frac{1}{2}} + \frac{1+\alpha}{2} I \right) &= \prod_{j=1}^n \left( \frac{1-\alpha}{2} s_j \left( B^{-\frac{1}{2}} A B^{-\frac{1}{2}} \right) + \frac{1+\alpha}{2} \right) \\ &\geq \prod_{j=1}^n \left[ s_j^{\frac{1-\alpha}{2}} \left( B^{-\frac{1}{2}} A B^{-\frac{1}{2}} \right) + r_0 \left( s_j^{\frac{1}{2}} \left( B^{-\frac{1}{2}} A B^{-\frac{1}{2}} \right) - 1 \right)^2 \right] \\ &\geq \prod_{j=1}^n s_j^{\frac{1-\alpha}{2}} \left( B^{-\frac{1}{2}} A B^{-\frac{1}{2}} \right) + r_0^n \prod_{j=1}^n \left( s_j^{\frac{1}{2}} \left( B^{-\frac{1}{2}} A B^{-\frac{1}{2}} \right) - 1 \right)^2 \\ &= \det \left( B^{-\frac{1}{2}} A B^{-\frac{1}{2}} \right)^{\frac{1-\alpha}{2}} + r_0^n \det \left( \left( B^{-\frac{1}{2}} A B^{-\frac{1}{2}} \right)^{\frac{1}{2}} - I \right)^2 \end{aligned}$$

Consequently,

$$\det \left( A^{\frac{1-\alpha}{2}} B^{\frac{1+\alpha}{2}} \right) + r_0^n \det \left( A + B - 2 \left( B^{\frac{1}{2}} \left( B^{-\frac{1}{2}} A B^{-\frac{1}{2}} \right)^{\frac{1}{2}} B^{\frac{1}{2}} \right) \right) \leq \det \left( \frac{1-\alpha}{2} A + \frac{1+\alpha}{2} B \right)$$

This completes the proof of the determinant inequality. □

In the next result, we give an improved arithmetic-geometric mean inequality for the Hilbert-Schmidt norm whose proof based on the spectral theorem.

**Theorem 3.6.** *Let  $A, B, X \in M_n(\mathbb{C})$  such that  $A$  and  $B$  are positive semidefinite, if  $0 \leq \alpha \leq 1$  and  $r > 0$ , then*

$$\begin{aligned} &\left\| A^{r\alpha} X B^{r(1-\alpha)} \right\|_2^2 + r_0 \|A^r X - X B^r\|_2^2 + 2\sqrt{\alpha}\sqrt{1-\alpha} \left\| \sqrt{A^r} X \sqrt{B^r} \right\|_2^2 \\ &\leq \left\| \sqrt{\alpha} A^r X + \sqrt{1-\alpha} X B^r \right\|_2^2 \end{aligned} \tag{3.5}$$

where  $r_0 = \min \{ \alpha, 1 - \alpha \}$

**Proof.** Since  $A$  and  $B$  are positive semidefinite, it is followed by spectral theorem that there exist unitary matrices  $U, V \in M_n(\mathbb{C})$ , such that  $A = U \Lambda_1 U^*$ ,  $B = V \Lambda_2 V^*$ , where  $\Lambda_1 = \text{diag}(\lambda_1, \lambda_2, \dots, \lambda_n)$ ,  $\Lambda_2 = \text{diag}(\mu_1, \mu_2, \dots, \mu_n)$ ,  $\lambda_i, \mu_j \geq 0$ ,  $i, j = 1, 2, \dots, n$ . For our computation, let  $Y = U^* X V = [y_{ij}]$ . Then we have

$$\begin{aligned} \sqrt{\alpha} A^r X + \sqrt{1-\alpha} X B^r &= U \left[ (\sqrt{\alpha} \lambda_i^r + \sqrt{1-\alpha} \mu_j^r) y_{ij} \right] V^*, \\ A^{r\alpha} X B^{r(1-\alpha)} &= U \left[ (\lambda_i^{r\alpha} \mu_j^{r(1-\alpha)}) y_{ij} \right] V^*, \\ A^r X - X B^r &= U \left[ (\lambda_i^r - \mu_j^r) y_{ij} \right] V^*, \\ A^{\frac{r}{2}} X B^{\frac{r}{2}} &= U \left[ (\lambda_i^{\frac{r}{2}} \mu_j^{\frac{r}{2}}) y_{ij} \right] V^* \end{aligned}$$

Now by (2.1), we have

$$\begin{aligned} \left\| \sqrt{\alpha} A^r X + \sqrt{1-\alpha} X B^r \right\|_2^2 &= \sum_{i,j=1}^n \left( \sqrt{\alpha} \lambda_i^r + \sqrt{1-\alpha} \mu_j^r \right)^2 |y_{ij}|^2 \\ &= \sum_{i,j=1}^n \left( \alpha \lambda_i^{2r} + (1-\alpha) \mu_j^{2r} + 2\sqrt{\alpha}\sqrt{1-\alpha} \lambda_i^r \mu_j^r \right) |y_{ij}|^2 \\ &\geq \sum_{i,j=1}^n \left[ (\lambda_i^{2r\alpha}) \cdot (\mu_j^{2r(1-\alpha)}) + r_0 (\lambda_i^r - \mu_j^r)^2 + 2\sqrt{\alpha}\sqrt{1-\alpha} \lambda_i^r \mu_j^r \right] |y_{ij}|^2 \\ &= \sum_{i,j=1}^n \left( \lambda_i^{r\alpha} \mu_j^{r(1-\alpha)} \right)^2 |y_{ij}|^2 + r_0 \sum_{i,j=1}^n (\lambda_i^r - \mu_j^r)^2 |y_{ij}|^2 + 2\sqrt{\alpha}\sqrt{1-\alpha} \sum_{i,j=1}^n \left( \lambda_i^{\frac{r}{2}} \mu_j^{\frac{r}{2}} \right)^2 |y_{ij}|^2 \\ &= \left\| A^{r\alpha} X B^{r(1-\alpha)} \right\|_2^2 + r_0 \|A^r X - X B^r\|_2^2 + 2\sqrt{\alpha}\sqrt{1-\alpha} \left\| \sqrt{A^r} X \sqrt{B^r} \right\|_2^2 \end{aligned}$$

□

**Theorem 3.7.** Let  $A, B, X \in M_n(\mathbb{C})$  such that  $A$  and  $B$  are positive semidefinite and if  $-1 \leq \alpha \leq 1$ , then

$$\begin{aligned} & \left\| A^{\frac{1-\alpha}{2}} X B^{\frac{1+\alpha}{2}} \right\|_2^2 + r_0 \left\| \sqrt{A} X - X \sqrt{B} \right\|_2^2 + 2 \sqrt{\frac{1-\alpha}{2}} \sqrt{\frac{1+\alpha}{2}} \left\| \sqrt{A} X \sqrt{B} \right\|_2^2 \\ & \leq \left\| \sqrt{\frac{1-\alpha}{2}} A X + \sqrt{\frac{1+\alpha}{2}} X B \right\|_2^2 \end{aligned} \tag{3.6}$$

where  $r_0 = \min \left\{ \frac{1-\alpha}{2}, \frac{1+\alpha}{2} \right\}$

**Proof.** Since  $A$  and  $B$  are positive semidefinite, it follows by spectral theorem that there exist unitary matrices  $U, V \in M_n(\mathbb{C})$ , such that  $A = U \Lambda_1 U^*$ ,  $B = V \Lambda_2 V^*$ , where  $\Lambda_1 = \text{diag}(\lambda_1, \lambda_2, \dots, \lambda_n)$ ,  $\Lambda_2 = \text{diag}(\mu_1, \mu_2, \dots, \mu_n)$ ,  $\lambda_i, \mu_j \geq 0$ ,  $i, j = 1, 2, \dots, n$ . For our computation, let  $Y = U^* X V = [y_{ij}]$ . Then we have

$$\begin{aligned} \sqrt{\frac{1-\alpha}{2}} A X + \sqrt{\frac{1+\alpha}{2}} X B &= U \left[ \left( \sqrt{\frac{1-\alpha}{2}} \lambda_i + \sqrt{\frac{1+\alpha}{2}} \mu_j \right) y_{ij} \right] V^*, \\ A^{\frac{1-\alpha}{2}} X B^{\frac{1+\alpha}{2}} &= U \left[ \left( \lambda_i^{\frac{1-\alpha}{2}} \mu_j^{\frac{1+\alpha}{2}} \right) y_{ij} \right] V^*, \\ \sqrt{A} X - X \sqrt{B} &= U \left[ \left( \sqrt{\lambda_i} - \sqrt{\mu_j} \right) y_{ij} \right] V^*, \\ 2 \sqrt{\frac{1-\alpha}{2}} \sqrt{\frac{1+\alpha}{2}} (\sqrt{A} \times \sqrt{B}) &= U \left[ \left( \sqrt{\frac{1-\alpha}{2}} \sqrt{\frac{1+\alpha}{2}} \sqrt{\lambda_i \mu_j} \right) y_{ij} \right] V^* \end{aligned}$$

Now by (2.2), we have

$$\begin{aligned} & \left\| \sqrt{\frac{1-\alpha}{2}} A X + \sqrt{\frac{1+\alpha}{2}} X B \right\|_2^2 = \sum_{i,j=1}^n \left( \sqrt{\frac{1-\alpha}{2}} \lambda_i + \sqrt{\frac{1+\alpha}{2}} \mu_j \right)^2 |y_{ij}|^2 \\ &= \sum_{i,j=1}^n \left( \frac{1-\alpha}{2} \lambda_i^2 + \frac{1+\alpha}{2} \mu_j^2 + 2 \sqrt{\frac{1-\alpha}{2}} \sqrt{\frac{1+\alpha}{2}} \lambda_i \mu_j \right) |y_{ij}|^2 \\ &\geq \sum_{i,j=1}^n \left[ \left( \lambda_i^{1-\alpha} \right) \cdot \left( \mu_j^{1+\alpha} \right) + r_0 (\sqrt{\lambda_i} - \sqrt{\mu_j})^2 + 2 \sqrt{\frac{1-\alpha}{2}} \sqrt{\frac{1+\alpha}{2}} \lambda_i \mu_j \right] |y_{ij}|^2 \\ &= \sum_{i,j=1}^n \left( \lambda_i^{\frac{1-\alpha}{2}} \mu_j^{\frac{1+\alpha}{2}} \right)^2 |y_{ij}|^2 + r_0 \sum_{i,j=1}^n \left( \sqrt{\lambda_i} - \sqrt{\mu_j} \right)^2 |y_{ij}|^2 \\ &+ 2 \sqrt{\frac{1-\alpha}{2}} \sqrt{\frac{1+\alpha}{2}} \sum_{i,j=1}^n \left( \sqrt{\lambda_i} \sqrt{\mu_j} \right)^2 |y_{ij}|^2 \\ &= \left\| A^{\frac{1-\alpha}{2}} X B^{\frac{1+\alpha}{2}} \right\|_2^2 + r_0 \left\| \sqrt{A} X - X \sqrt{B} \right\|_2^2 + 2 \sqrt{\frac{1-\alpha}{2}} \sqrt{\frac{1+\alpha}{2}} \left\| \sqrt{A} X \sqrt{B} \right\|_2^2. \end{aligned}$$

□

The results of unitary norm are as follow:

**Lemma 3.8.** Let  $A, B, X \in M_n(\mathbb{C})$  such that  $A$  and  $B$  are positive semidefinite, if  $0 \leq \alpha \leq 1$  and  $r > 0$ , then

$$\left\| A^{2r\alpha} X B^{2r(1-\alpha)} \right\| \leq \left\| A^{2r} X \right\|^\alpha \left\| X B^{2r} \right\|^{(1-\alpha)}$$

**Theorem 3.9.** Let  $A, B, X \in M_n(\mathbb{C})$  such that  $A$  and  $B$  are positive semidefinite, if  $0 \leq \alpha \leq 1$  and  $r > 0$ , then

$$\left\| \left\| A^{2r\alpha} X B^{2r(1-\alpha)} \right\| \right\| + r_0 (\|A^r X\| - \|X B^r\|)^2 \leq \alpha \|A^{2r} X\| + (1 - \alpha) \|X B^{2r}\| \quad (3.7)$$

where  $r_0 = \min\{\alpha, 1 - \alpha\}$

**Proof.** By Lemma 3.8 and the inequality (2.1) we have

$$\begin{aligned} & \left\| \left\| A^{2r\alpha} X B^{2r(1-\alpha)} \right\| \right\| + r_0 (\|A^r X\| - \|X B^r\|)^2 \\ & \leq \left\| \left\| A^{2r} X \right\| \right\|^\alpha \left\| \left\| X B^{2r} \right\| \right\|^{(1-\alpha)} + r_0 (\|A^r X\| - \|X B^r\|)^2 \\ & \leq \alpha \|A^{2r} X\| + (1 - \alpha) \|X B^{2r}\| \end{aligned}$$

□

**Lemma 3.10.** Let  $A, B, X \in M_n(\mathbb{C})$  such that  $A$  and  $B$  are positive semidefinite and if  $-1 \leq \alpha \leq 1$ , then

$$\left\| \left\| A^{\frac{1-\alpha}{2}} X B^{\frac{1+\alpha}{2}} \right\| \right\| \leq \|AX\|^{\frac{1-\alpha}{2}} \|XB\|^{\frac{1+\alpha}{2}}.$$

**Theorem 3.11.** Let  $A, B, X \in M_n(\mathbb{C})$  such that  $A$  and  $B$  are positive semidefinite and if  $-1 \leq \alpha \leq 1$ , then

$$\left\| \left\| A^{\frac{1-\alpha}{2}} X B^{\frac{1+\alpha}{2}} \right\| \right\| + r_0 \left( \left\| \left\| \sqrt{AX} \right\| \right\| - \left\| \left\| X\sqrt{B} \right\| \right\| \right)^2 \leq \frac{1-\alpha}{2} \|AX\| + \frac{1+\alpha}{2} \|XB\| \quad (3.8)$$

where  $r_0 = \min\left\{\frac{1-\alpha}{2}, \frac{1+\alpha}{2}\right\}$

**Proof.** By Lemma 3.10 and the inequality (2.2) we have

$$\begin{aligned} & \left\| \left\| A^{\frac{1-\alpha}{2}} X B^{\frac{1+\alpha}{2}} \right\| \right\| + r_0 \left( \left\| \left\| \sqrt{AX} \right\| \right\| - \left\| \left\| X\sqrt{B} \right\| \right\| \right)^2 \\ & \leq \|AX\|^{\frac{1-\alpha}{2}} \|XB\|^{\frac{1+\alpha}{2}} + r_0 \left( \left\| \left\| \sqrt{AX} \right\| \right\| - \left\| \left\| X\sqrt{B} \right\| \right\| \right)^2 \\ & \leq \frac{1-\alpha}{2} \|AX\| + \frac{1+\alpha}{2} \|XB\| \end{aligned}$$

□

## References

- [1] M.A. Ighachane and M. Akkouchi, *A New Generalization of Two Refined Young Inequalities and Applications*, Moroccan J. of Pure and Appl. Anal. **6**(2), 155–167, 2020.
- [2] F. Kittaneh and Y. Manasrah, *Improved Young and Heinz Inequalities for Matrices*, J. Math. Anal. Appl. **361**(1), 262–269, 2010.
- [3] Y. Manasrah and F. Kittaneh, *A Generalization of Two Refined Young Inequalities*, Positivity, **19**, 757–768, 2015.
- [4] H. Omar and F. Kittaneh, *Matrix Young Inequalities for the Hilbert Schmidt Norm*, Linear Algebra Appl. **308**, 77–84, 2000.